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1. Jahr 2. Jahr 3. Jahr
EG1TV6D 1448,79 1448,79 1474,81
EG 1 AVR 1442,79 1442,79 1514,93
EG 1 AVR DWBO 1372,28 1372,28 1440,89
7. Jahr 8. Jahr 9. Jahr
EG1TVoD 1507,35 1507,35 1507,35
EG1AVR 1514,93 1514,93 1514,93
EG 1 AVR DWBO 1440,89 1440,89 1440,89
13. Jahr 14. Jahr 15. Jahr
EG1TV6D 1537,7 1537,7 1615,78
EG 1 AVR 1514,93 1514,93 1514,93
EG 1 AVR DWBO 1440,89 1440,89 1440,89
19. Jahr 20. Jahr  21.Jahr
EG1TVoD 1615,78 1615,78 1615,78
EG1AVR 1514,93 1514,93 1514,93
EG 1 AVR DWBO 1440,89 1440,89 1440,89
25. Jahr 26.Jahr 27.Jahr
EG1TV6D 1615,78 1615,78 1615,78
EG 1 AVR 1514,93 1514,93 1514,93
EG 1 AVR DWBO 1440,89 1440,89 1440,89

Gesamtsumme liber 30 Jahre

4. Jahr 5. Jahr 6. Jahr
1474,81 1474,81 1507,35
1514,93 1514,93 1514,93
1440,89 1440,89 1440,89

10. Jahr 11.Jahr 12. Jahr
1537,7 1537,7 1537,7
1514,93 1514,93 1514,93
1440,89 1440,89 1440,89

16.Jahr 17.Jahr 18. Jahr
1615,78 1615,78 1615,78
1514,93 1514,93 1514,93
1440,89 1440,89 1440,89

22.Jahr 23.Jahr 24. Jahr
1615,78 1615,78 1615,78
1514,93 1514,93 1514,93
1440,89 1440,89 1440,89

28.Jahr 29. Jahr 30. Jahr
1615,78 1615,78 1615,78
1514,93 1514,93 1514,93
1440,89 1440,89 1440,89

EG1TVoD 562708,68
EG 1 AVR 543643,44
EG 1 AVR DWBO 517073,76
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